To,

INVOICE

THE PRINCIPAL Swatantraya Sainik Suryabhanji Pawar College , PURNA

GOMTESH AGENCIES

Book Sellers & Library Suppliers 4, Stadium Complex, Near G.T.I., PARBHANI-431401, Tel. 9890644676

No. 00152

Date: 22/03/2021

Acc No	Sr.	Title	Author	Price	Qty.	Total Amount
7,001,10	1	BASY Opt Hindi Nibandhtarang	Ed SRTMU	95.00	10	950.00
	2	BASY Opt Hindi Kavyatarang	Ed SRTMU	110.00	10	1100.00
	3	BASY Opt Marathi Gadya	Ed SRTMU	100.00	• 10	1000.00
	4	BAFY Opt Hindi Kahani Sankalan	Ed SRTMU	95.00	10	950.00
	5	BAFY Opt Hindi Khanjan Nayan	Ed SRTMU	70.00	10	700.00
	6	Abhinav Kavyprakash	Jog	300.00	1	300.00
	7	Bhash ani Bhashshastra	Gajendragad	350.00	1	350.00
7. 70	۱		1 7 2 2 2 2		52	5350.00
			i i i i i i i i i i i i i i i i i i i			
			1			
	1					al o s
In Words : Rs Four Thousand Eight Hundred				Total 52		5350.00
				Less 10 %		535.00
Fifteen	Fifteen Only Rs. 4815 /-			Net Total		4815.00

Ref : - Your Order -Dispatch Details :- Hand Delivery.

Terms:

Certified that the prices charged in the invoice are as per the Publisher's Price

1021161513

Interest @ 24% p.a. will be charged, if bill is not paid within a month. Our responsibility ceases after delivery of goods to the carries. Goods once sold will not be taken back or exchanged. Compalints may be entertained if filed within 7 days after receipt of goods. Payment of this bill is valid against separate stamped receipt only. Subject to Parbhani Jurisdiction only. E. & O.E.

Books are Exempted from GST (HSN CODE 4901) as per Chapter 49 of GST Council

Bank Details: Gomatesh Agencies
State Bank of India Staduim Branch Parbhani
A/C - 62048165706 IFSC - SBIN0020016



To,

INVOICE

THE PRINCIPAL Swatantraya Sainik Suryabhanji Pawar College , PURNA

GOMTESH AGENCIES

Book Sellers & Library Suppliers 4, Stadium Complex, Near G.T.I., PARBHANI-431401, Tel. 9890644676

No. 00153

Date: 22/03/2021

			, 110.00100		Date: 22/05/2021	
Acc No	Sr.	Title	Author	Price	Qty.	Total Amount
	1	BASY Comp ENGLISH PRUDENCE	Ed SRTMU	135.00		1350.00
			,			
					• .	
					1	
	-3					
			e de la composition		1. 2.	
In Words: Rs One Thousand Two Hundred Eighty Three Only Rs. 1283 /-			Total 10		1350.00	
			Less 5 %		67.00	
			Net Total		1283.00	

Ref : - Your Order - Dispatch Details :- Hand Delivery.

Terms :

Certified that the prices charged in the invoice are as per the Publisher's Price

asinami)

Interest @ 24% p.a. will be charged, if bill is not paid within a month. Our responsibility ceases after delivery of goods to the carries.

Goods once sold will not be taken back or exchanged.

Compalints may be entertained if filed within 7 days after receipt of goods.

Payment of this bill is valid against separate stamped receipt only.

Subject to Parbhani Jurisdiction only. E. & O.E.

Books are Exempted from GST (HSN CQDE 4901.) as per Chapter 49 of GST Council

Bank Details: Gomatesh Agencies
State Bank of India Staduim Branch Parbhani
A/C - 62048165706 IFSC - SBIN0020016



सुबर्ग दुकाने के संस्था अधिनेयम, १९४८ यु.१४,०५/दुकान/2000/पूर्ण-च.झ.१२७-३७/०४/०९ CREDITIMEMO प्रति/क्षेदा में "मा प्रान्याप्र भवा से स्मिना नज़ी जनार भरापिद्यातम् पूर्णा कुल/Total Price Copies 250 250=0 800206 TT 728 (\$10 KA 02 400 01 350=0 350 १ के भारता है। इस्तरस्था 700=00 02 35° 240=0 विद्यासिन रहा अस्य जन्म शास्त्र 120 02 150=0 01 150 175=0 क्षात्राचा स्त्र 175 01 160=00 01 160 इड्डिक्क जुरुत्वप्रीप्रका स्थितप्रका 150200 150 01 Booksance soldwill norbedaken back. Gredii 90 daysoniy 2975=00 क्रीमशन ्यहण्योतिहालकार्चः <u>।</u> grop a will be charged on overdue hill 要可要。 24 BRNA Jujsdieuononly Round + gWLC 2.47 for SWATI PRAKASHAN सचालकः; स्वाती प्रकाशन **वा**नंद नगर, पुणी-४३१५११ .

Abhay

पुस्तक भांडार

Ph.# 02462-240265

Pustak Bhandar 'पद्मनाभ', महावीर चौक, नांदेड - ४३१६०१ (महाराष्ट्र) 'Padmanabh', Mahavir Chowk, Nanded-431601 (M.S.) email: abhaynanded@gmail.com प्रति, प्राच्यार्थ, क्रा / क्रेडीट मेमो क्र. 3484 र्वा सं युधेमानजी पवार महाविधालम् डिलेव्हरी: दिनांक: Sou 20/04/2029 पुरतकाच नाव / रोखक ďź. िग्रान यक्कम ऋपरो भराठी काटपाल साहित 9. 9E0-भागव विकास- कीमा काँडलकर 600 2. -2006 3. भागव विकास- क्रिकार करकांई-2000 400 -कार्य शिशंबर विकास - " 8: 2400 300 -٢. विवाद द्वानि कोर्डिक कंबंहा- क्रिकी परकाडे 9400 840-HINGT WINDS BILD BRICKERIKEN - JOHNS €, 2240 U. कांड्रेबिक दाराम्यान व्यवस्थापून-240-9240 6. 940-द्यारपुर्विक शह कादाद्यामण- चेदाअड 640 minds aldot a sufficerkent shured- estar 300-€, 4440 90. २८ हालसार जिस्तार- majoli unconis 270-40 Ayeyo GE 40% Libraria 98344 143551-अक्षरी रुपये एकुण 98344. 40 प्राप्त झाले करिता : अभय पुस्तक भांडार

To, **INVOICE** THE PRINCIPAL Swatantraya Sainik Suryabhanji Pawar College, PURNA

GOMTESH AGENCIES

Book Sellers & Library Suppliers 4, Stadium Complex, Near G.T.I., PARBHANI-431401, Tel. 9890644676

No 00132

Date: 25/01/2021

Sr	T:0	No. 00132		Ι	Date : 25/01/202
		Author	Price		Total Amount
	DAOY SE Warathi AKSHARVIDYA	Ed SRTMU	100.00		1500.0
	BASY Opt Marathi Natyatma Sahitya	Ed SRTMU			
1.7					480.0
4	BASY Opt English Indian Literature				600.00
5	BASY Opt English American Literatur			4	780.00
	3	Ed SKIMU	245.00	4	980.00
				36	4340.00
		45 Y 47 E E			
82					
. D-	T1 2				
Words: Rs Three Thousand Nine HundredSix			Total 36		4340.00
. 39	06 /	Trail to the	Less 10	%	434.00
			Net Tota	ıl	3906.00
	: Rs	1 BASY SL Marathi AKSHARVIDYA 2 BASY Opt Marathi Natyatma Sahitya 3 BASY SL Hindi GADYATARANG 4 BASY Opt English Indian Literature 5 BASY Opt English American Literatur **Three Thousand Nine HundredSix**	Sr. Title Author 1 BASY SL Marathi AKSHARVIDYA Ed SRTMU 2 BASY Opt Marathi Natyatma Sahitya Ed SRTMU 3 BASY SL Hindi GADYATARANG Ed SRTMU 4 BASY Opt English Indian Literature Ed SRTMU 5 BASY Opt English American Literatur Ed SRTMU : Rs Three Thousand Nine HundredSix 3 3906 /-	Sr. Title Author Price 1 BASY SL Marathi AKSHARVIDYA Ed SRTMU 100.00 2 BASY Opt Marathi Natyatma Sahitya Ed SRTMU 160.00 3 BASY SL Hindi GADYATARANG Ed SRTMU 60.00 4 BASY Opt English Indian Literature Ed SRTMU 195.00 5 BASY Opt English American Literatur Ed SRTMU 245.00 **Ed SRTMU 195.00 **Ed SRTMU 195.00 **Ed SRTMU 245.00 **Ed SRTMU 245.00 **Ed SRTMU 245.00 **Tota Less 10 **Net Tota Net Tota	Sr. Title Author Price Qty. 1 BASY SL Marathi AKSHARVIDYA Ed SRTMU 100.00 15 2 BASY Opt Marathi Natyatma Sahitya Ed SRTMU 160.00 3 3 BASY SL Hindi GADYATARANG Ed SRTMU 60.00 10 4 BASY Opt English Indian Literature Ed SRTMU 195.00 4 5 BASY Opt English American Literatur Ed SRTMU 245.00 4 36 36 4 Author 245.00 4 5 BASY Opt English American Literatur Ed SRTMU 245.00 4 36 36 36 36 4 36 36 36 5 38 36 36 6 30 36 36 7 30 36 36 8 30 36 36 9 30 36 36 10 30 36 36 1

Ref : - Your Order Dispatch Details :- Hand Delivery.

Certified that the prices charged in the invoice are as per the Publisher's Price

Interest @ 24% p.a. will be charged, if bill is not paid within a month. Our responsibility ceases after delivery of goods to the carries. Goods once sold will not be taken back or exchanged Compalints may be entertained if filed within 7 days after receipt of goods. Payment of this bill is valid against separate stamped receipt only. Subject to Parbhani Jurisdiction only. E. & O.E.

Books are Exempted from GST (HSN CODE 4901) as per Chapter 49 of GST Council

Bank Details: Gomatesh Agencies State Bank of India Staduim Branch Parbhani A/C - 62048165706 IFSC - SBIN0020016